4.4 Extra Practice

1. OABCD = OMNOP, OSTUV = OEFGH,
APQR = AJKL; COMNORP is a translation 5 units left and
2 units down of CDABCD. ESTUV is a reflection of
EFGH in the line y = x. AJKL is a 90° rotation of APQR.

2. Sample answer: translation 5 units up followed by a 180°
rotation about the origin

3. Sample answer: reflection in the line x = 1 followed by a
translation 2 units right and 5 units down

4. yes; ADEF is areflection of AABC in the x-axis.

5. no; M and N are translated 4 units left and 4 units down
of their corresponding vertices, / and J, but K and L are
translated 5 units left and 4 units down of their corresponding
vertices, G and H. So, this is not a rigid motion.

6. U"'V" 7. line k and line m

8. line k and line m are parallel

9. 10in. 10. 120°





